
■ つぎのような 2つの数 を答えましょう。

① たして 12、かけて 27 になる ⑥ たして 13、かけて 36 になる

と と

② たして 8、かけて 12 になる ⑦ たして 10、かけて 24 になる

と と

③ たして 10、かけて 16 になる ⑧ たして 8、かけて 7 になる

と と

④ たして 10、かけて 9 になる ⑨ たして 16、かけて 63 になる

と と

⑤ たして 12、かけて 32 になる ⑩ たして 4、かけて 4 になる

と と

たして かけて
年 組 名前

/１0



■ つぎのような 2つの数 を答えましょう。

① たして 12、かけて 27 になる ⑥ たして 13、かけて 36 になる

と と

② たして 8、かけて 12 になる ⑦ たして 10、かけて 24 になる

と と

③ たして 10、かけて 16 になる ⑧ たして 8、かけて 7 になる

と と

④ たして 10、かけて 9 になる ⑨ たして 16、かけて 63 になる

と と

⑤ たして 12、かけて 32 になる ⑩ たして 4、かけて 4 になる

と と

3 9 4 9

2 6 4 6

2 8 1 7

1 9 7 9

4 8 2 2

たして かけて
年 組 名前

/１0


